Last Name Ki i - Chapter 13 Ouiz on Chemical Equilibrium
SHOW YOUR WORK FOR CREDIT / INCLUDE UNITS WHERE APPLICABLF

1) The equilibrium constant is given for two of the reactions below. Determine thé
value of the missing eguilibrium constant, MY ANSWER I5 LETTER
A(g)+B(g) & AB(g) Ke=0.24
AB(g) + A(g) & A2B(g) Kc=338
2A(g) © A2B(g) Kc=?
A)4.0 B) 0.63 )36 D) 16 E)0.91

Wez Kex Ke, = 04x3.¢ = 0,9

2} in which ol the lollowing reactions will K¢ = hp? MY ANSWER IS LELIER C/
A) N204(g) < ZNO2(g)

B) CH4(g) + H20(g) < CO(g) + 3 H2(g)

C) Ha(g)+12(g) © 2 HI(g)

D) CO(g) + 2 H2(g) « CH30H(g)

E) N2(g) + 3 H2(g) © 2 NH3(g)

3) Determine the value of K¢ for the reaction: N2{g) + 3 H2(g) & 2 NH3(g}, given these
equilibrium concentrations: {Nz}eq =1.5M,|H? leg = L1 M, fNHg}eq =04/ M.
A)3.5 B)0.28 C)0.11 D) 9.1 E)0.78 C

. ) MY ANSWER IS LETTER _~—
K= o] B =
= - - I

ATy s’

4) Determine the value of Kp for the reaction: 2 CO(g) +02(g) < 2 CO2(g)

if the equilibrium concentrations are as follows: P(CO)eg = 6.8 x 10-11 atm,

P(O2)eq = 1.3 x 1072 atm, P(CO2)eq = 0.041 atm.

A)36x10-21  B)22x10-12 C)46x1011 D)28x1020  E)3.6x10-15 m
MY ANSWER IS LETTER ____)_/
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5) Express the eqguilibrium constant for the reaction MY ANSWER IS LETTER E
2 CH3Cl(g) + Cl2 (g) @ 2CH2CI2 {g) + H2(g)

[CH,Cl,]H,] - |CH-CI)' “[Cl5] [CH-CH=[Cl,

{CH;CHC, | [CH,Cly ] “[H,1] [CHACly |[[H4 §

[CH,CI}[Cl, | . [CHA,Cl, 1°[H5 1

{CH,Cl, HH, | [CHACIFCla |

&) The equilibrium constant is given for one of the reactions below. Determine th
value of the missing equilibrium constant. MY ANSWER IS LETTER

2 HBr(g) € Ho2(g) + Bra(g) Ke=26x%105
H2(g) +Br2{g) & 2HBr(g) Kc=7
AY1.9x104  B)53x100 (Q6dx104 D)38x 1M £) 1.6 % 103

Kr.,.,:__ 6{# . ;LE.'\F.@'S" = 3F4H6l = 3.6% 1
L e, L

7} The eguilibrium constant is given for one of the reactions below. Determine the C
vaiue of the missing equilibrium constant. MY ANSWER IS LETTER

2 HBr(g) © H2(z) + Br2(g) Ke=2.6x%10-
HBr(g) < 0.5 H2(g) + 0.5 Bra(g) Ke=?
A} 6.8 x 10-1U B) 5. 1x103 CY B ix10-3 Dy 6.8x101U E)3.8x104

K"-nt*va :{; L(-;C.lu.\ e - ('2‘{2,1 o - BUL ~ CJF\ * 1'071‘

8) The reaction N7{g)+3 H2{g) & 2 NH3(g) has a K¢ value of 61. What is the e of
Kp tor this reaction at 220.85 U/ MY ANSWER IS LETLER
AV36 % 12 B A1 )28 M is V1.9 % 104

Ke = Kt(RT\A“ ANT 2-Y4 = -2

r = GoOK = 27,5+ 22LISC
) =7 _may ) : |
KE’ = 6 (.O%206 Lem LEIJ’K) R = 05206 *—ﬁéhjfmrb(

il K
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Ke= 03( = 32.bxwo™
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9) Consider the reaction: Xe(g) +2 F2(g) — XeF4(g). The reaction mixture initially

contains 2.24 atm Xe and 4.27 atm F2. If the equilibrium pressure of Xe is 0.34 atm, bv

using an ICE table, find the equilibrium concentrations of all reactants and products
and use them Lo find the equilibrium constant (Kp) for the reaction.

AY0.040 BY0.12 ) 0.99 D) 8.3 E)25
e MY ANSWER IS LETTER
Xe * 2%, X 2 |

AP | g0 || +150

e ) ol o | 180

l'ﬁe.a - . e e s . WETRCT R

- oy B "
" batnl | Ke= 14D SER £

| 034 < 0M7

10) Consider the following reaction: CHa(g) +2 H25(g) © CSo(g) +4 Holg) -

The reaction mixture initiallv contains 0.50 M CH4 and 0.75 M H2S. If the equilibrium

concentration of H? is (.44 M, by using an ICE table, find the equilibrium

concentrations of all reactants and products and use them to find the equilibrium
constant (Kc) tor the reaction.

A)0.038 BY023 ()29 DY 10. E)0.34
MY ANSWER IS LETTER
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